A [

20, HH4E. BT, FEE. BHERUBE CERICE) — ke —
BT L #%,
H %E 4 = 74 PE it i i s
% #| 18,182 10.2 13,029 7.3 718 38.0 9,522 5.4 1,812 1.02
e il 1,665 10.8 1,054 6.8 59 34.2 899 5.8 173 1.12
B W W 2,932 10.8 1,699 6.2 126 41.2 1,674 6.1 306 1.12
il Y il 1,058 10.1 846 8.1 36 32.9 532 5.1 121 1.16
I i3 il 1,220 10.3 890 7.5 55 43.1 632 5.3 174 1.47
2 2, il 1,029 10.5 589 6.0 36 33.8 585 6.0 87 0.89
s B il 556 9.2 531 8.8 . 17 29.7 310 5.1 61 1.01
% i i 2,035 11.7 961 5.5 68 32.3 1,184 6.8 184 1.06
%, ik Il 600 9.2 342 5.2 47 72.6 299 4.6 65 0.99
B b il 273 9.7 229 8.2 8 28.5 128 4.6 26 0.93
3 il irs 380 10.2 269 7.2 16 40.4 166 4.4 27 0.72
B BB i) 298 10.7 281 10.1 12 38.7 113 4.1 19 0.69
fig Lijd i) 217 9.0 226 9.4 11 48.2 89 3.7 18 0.75
A = 5l 423 10.7 284 7.2 8 18.6 204 5.1 48 1.21
% ;-3 ) 11 9.8 76 6.7 6 51.3 40 3.5 6 0.53
E B ) 126 8.7 85 5.9 5 38.2 67 4.6 11 0.76
B N - T 1 74 10.5 48 6.8 4 51.3 46 6.5 11 1.56
I e BT 155 11.2 97 7.0 7 43.2 55 4.0 11 0.80
B I+ ) 83 9.9 59 7.0 1 46.0 42 5.0 6 0.71
X @ T 141 10.3 104 7.6 6 40.8 47 3.4 13 0.95
E B iy 234 9.4 113 1.6 7 29.0 112 4.5 19 0.77
i & HT 82 10.4 92 11.7 2 23.8 39 4.9 1 0.13
Eiy Eiig HT 347 10.8 231 7.2 14 38.8 153 4.8 33 1.03
¥ Hy 89 8.2 75 6.9 6 63.2 55 5.1 8 0.74
LI 5 Wy 69 10.2 42 6.2 2 28.2 41 6.1 4 0.59
I fiid Hr 100 9.8 59 5.8 6 56.6 57 5.6 13 1.28
B ] 61 8.4 56 7.7 3 46.9 31 4.3 4 0.55
| £ iy 155 9.0 114 6.6 8 49.1 74 4.3 17 0.99
2 i T 80 8.8 92 10.1 2 24.4 50 5.5 10 1.10
% iz} ¥ 45 9.9 34 7.5 - - 16 3.5 4 0.88
e e T 89 8.8 73 7.2 5 53.2 43 1.2 8 0.79
H RO T 56 10.0 58 10.4 3 50.8 31 5.5 9 1.61
— * BT 115 8.8 89 6.8 2 17.1 61 4.7 17 1.30
=] 1] T 123 8.2 137 9.1 4 31.5 59 3.9 13 0.86
=4 Bf Hy 159 9.0 140 7.9 2 12.4 83 4.7 10 0.57
== # # 61 6.7 112 12.4 3 46.9 34 3.8 3 0.33
= = g 105 10.6 68 6.8 4 36.7 59 5.9 13 1.31
5 53] ny 73 10.4 91 13.0 1 13.5 35 5.0 3 0.43
o = T 44 6.6 63 9.4 - - 23 3.4 7 1.04
% A LI} 75 7.3 87 8.5 2 26.0 56 5.5 7 0.68
jjZ] 1 Hy 203 9.4 158 7.3 8 37.9 82 3.8 17 0.79
N B iy 62 7.8 68 8.6 1 15.9 30 3.8 1 0.13
2 il #F 54 9.6 45 8.0 3 52.6 18 3.2 2 0.35
n # 29 6.4 48 10.6 2 64.5 19 4.2 - -
* 7 i 134 10.9 110 8.9 6 42.9 59 4.8 15 1.22
_ = Ay 102 11.4 76 8.5 2 19.2 56 6.2 9 1.00
I8 1% il 197 11.6 96 5.6 11 52.9 115 6.8. 21 1.23
) B iy 81 6.9 121 10.3 3 35.7 418 4.1 1 0.34
52l B 7 86 8.9 107 11.1 1 11.5 45 4.7 3 0.31
K w 1} 39 6.6 49 8.4 5 113.6 24 4.1 8 1.36
i 2 g 44 8.4 76 14.4 4 83.3 19 3.6 2 0.38
1 *F 102 12.5 50 6.1 6 55.6 46 5.6 13 1.59
N T 12 6.8 22 12.5 1 76.9 13 7.4 2 1.13
JE 2 ) 81 8.9 7 8.3 2 24.1 11 4.5 4 0.44
{7 “ iy 91 8.9 113 11.1 6 61.9 42 4.1 10 0.98
B o+ JE N 26 8.6 30 9.9 - - 13 4.3 1 0.33
Ri] 1] T 83 9.9 77 9.2 2 23.5 23 2.7 4 0.48
Xl m 44 7.7 70 12.3 2 43.5 27 4.7 4 0.70
i 1 my 77 7.9 74 7.6 4 49.4 36 3.7 7 0.72
i B T 80 11.5 65 9.3 3 36.1 33 4.7 6 0.86
N x Ay 72 7.4 111 11.4 7 88.6 34 3.5 10 1.03
it Jix T 154 9.5 136 8.4 3 19.1 76 4.7 18 1.11
faf I 1] 255 12.0 183 8.6 17 62.5 141 6.6 23 1.08
154 0 Hy 97 10.0 81 8.3 4 39.6 55 5.6 9 0.92
OB OE B W 101 8.1 144 11.5 1 9.8 50 4.0 12 0.96
i3 1] g 93 8.2 121 10.7 2 21.1 53 4.7 15 1.33
i i3 i) 81 8.1 95 9.5 — — 39 3.9 6 0.60
o * ] 90 10.8 71 8.5 2 21.7 34 4.1 6 0.72
A Al my 10 4.9 26 12.7 - — 3 1.5 — —
5 43 il 64 13.6 35 7.5 3 44.8 24 5.1 10 2.13
I AT 1,000%F, 3EEEEHPE 11,0008, HH REREIESRER



